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MARKING INSTRUCTIONS AND MODEL ANSWERS
MATHEMATICS

(Only for Blind Candidates)

(Academic/Open)
(Only for Fresh Candidates)
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General Instructions :

(i) Examiners are advised to go through the
general as well as specific instructions before
taking up evaluation of the answer-books.

(i) Instructions given in the marking scheme are
to be followed strictly so that there may be
uniformity in evaluation.

(iii) Mistakes in the answers are to be underlined
or encircled.

(iv) Examiners need not hesitate in awarding full
marks to the examinee if the answer/s is/are
absolutely correct.
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(v) Examiners are requested to ensure that every
answer is seriously and honestly gone through
before it is awarded mark/s. It will ensure the
authenticity as their evaluation and enhance
the reputation of the Institution.

(vi) A question having parts is to be evaluated and
awarded partwise.

(vii) If an examinee writes an acceptable answer
which is not given in the marking scheme, he
or she may be awarded marks only after
consultation with the head-examiner.

(viii) If an examinee attempts an extra question,
that answer deserving higher award should
be retained and the other scored out.

(ix) Word limit wherever prescribed, if violated
upto 10%. On both sides, may be ignored. If
the violation exceeds 10%, 1 mark may be
deducted.

(x) Head-examiners will approve the standard of
marking of the examiners under them only
after ensuring the non-violation of the
instructions given in the marking scheme.

(xi) Head-examiners and examiners are once
again requested and advised to ensure the
authenticity of their evaluation by going
through the answers seriously, sincerely and
honestly. The advice, if not headed to, will
bring a bad name to them and the Institution.
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SECTION - A
1. () Ans: (D) 5++/5 1
(i) Ans:(B) 24 1
(iii) Ans: (C) 3 1
(iv) Ans: (B) -2 1

(v) Ans:(A) —=—#— 1

(vi) Ans: (C) x2-6x=x(x-23) 1
(vii) Ans : (A) 45 1
(viii) Ans : (C) 245 1
(ix) Ans: (A) /x> +y? 1
(x) Ans: (D) (3, 2) 1
(xi) Ans : (B) % 1
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(xii) Ans :

(xiii) Ans :

(xiv) Ans :

(xv) Ans :

(xvi) Ans :

(A)

(B)

©)

(A)

(D)

3
4
132 o

539 om?

W~

SECTION-B

2. Sol. : By Division algorithm

867 =255 x 3 + 102

255=102x2 + 51

102=51x2+0

-~ HCF (867, 255) =51

1954/1904
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3. Sol.:

—x?+x-1 )31 3x2 _3x+5(x-2

2x° -2x+5
2x% —2x +2
- + -
3 1

Division Algorithm :
Divisor x Quotient + Remainder

=(-x*+x-1) (x-2)+3

=-x3+x?—x+2x%2-2x+2+3
=-x3+3x*-3x+5 1
= Dividend

4. Sol. : Let a be the first term and d be the
common difference

Here a, =16
a+2d=16 ................ (i)

and a; =ag +12
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a+6d=a+4d+12

6d-4d =12

d=12/2 =6 1
Putting d =6 in (i), we get

a+2x6=16

a=16-12

a=4

. A.P.is 4, 10, 16, 22 1

5. Sol.: sin (A—B):%

from (i) & (ii) we get

A =45°and B =15° 1
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6. Sol.:

Daily Wages f X x X f
100-120 12 110 1320
120-140 14 130 1820
140-160 8 150 1200
160-180 6 170 1020
180-200 10 190 1900

50 7260
1
Mean (x)= =X*J _ 7280 —Rs. 145.20 1

xf

SECTION-C

7. Sol. : Let Ravi answer x questions correctly and

Yy questions incorrectly.

ATQ 3x-y=40 ..........
and 4x-2y=50 ................

(ii) 1

Multiplying (i) by 2 and subtracting (ii), we get

2x=30= x=15
from (i) 3x15-y =40
or y=395

.. Total no. of questions in the test are
15+5 =20
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8. Sol. : Let l:m and l:n
X y

then the equations become

lm+ln=2 =>3m+2n=12 ................ (i)
2 3

and %m+ln:E =2m+3n=13 ....... (i) 1

Multiplying (i) by 2 and (ii) by 3, we get
om+4n=24 ................ (iii)

6m+9n =39 ...l (iv)

by subtracting, we get

-5n=-15 =>n=3 1
Putting n =3 in (i) we get

3m+2x3=12

3m=12-6 1

or m=2

Nowm=2:>l=2 or x=l
X 2

and x:S:l:S ory:%
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9. Sol. : Let P (x,y) be equidistant from the points
A(7, 1) and B (3, 5)
We are given that AP = BP

so AP? = BP? 1
(x =77 +(y -1 =(x-37 +(y-5)°

x2+49-14x+y? +1-2y=x>+9-6x+y? +25-10y

2
-14x+6x -2y +10y =34 -50
-8x+8y=-16
or x-y=2 1

10. Sol.: Let A(3,0), B(4,5),C(-1,4) and D(-2,-1)
be the vertices of the rhombus ABCD.

Diagonal AC =4/(-1-3)? + (4 — 0)2
=J16+16
=442 1
and Diagonal BD = \/(—2 -4 + (-1- 5)?
=/36+36
=672

Area of rhombus ABCD 1

= % X (Product of lengths of diagonals)
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:leCxBD 1
2

:%x4\/§x6\/§

=24 sq. units 1

11. Sol.: Herer =21 cm, 6= 60°

(i) Length of the arc -9 X TTr
180

(ii) Area of the sector = 9 X tr?
360

:ﬂx£x21x21
360 7

=231 cm? 2

12. Sol.: In a single throw of die, we can get any
one of the six numbers 1, 2, 3, 4, 5, 6,

- Total no. of elementary events = 6

(i) Prime numbers are 2, 3, 5

. P (getting a prime number) = % :% 2
(ii) The even numbers are 2, 4, 6
~. P (getting an even no.) = % = % 2
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SECTION - D

13. Sol. : Let Ram's present age = x years

14.

3 years ago Ram's age = (x— 3) years
5 years after Ram's age = (x + 5) years
1 1 1
+ ==
x-3 x+5 3
= 3(x+5)+3(x-3)=(x—-3)(x+9)

ATQ

= 3x+15+3x-9=x°+2x-15
= x°-4x-21=0 2
X2 -7x+3x-21=0
xX(x=7)+3(x-7)=0
(x=7)(x+3)=0
or x=7,-3

Thus Ram's present age is 7 years. 2

Sol. : Let AB be the building of height h.
And the height of tower is 50 m.

From As BAC and DCA

AC = cot 30°
AB

In ADCA
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D—C:tan 60° 2
AC
50 50 .
— =43 =2 AC=—= ... ii 2
AC V3 7 (i1)
from (i) & (ii)

50
V3h ==

J3

50 1 50 2
> h=—=X—=—=16-m

V3 V3 3 3
Hence the height of building is 16%m 2

OR
. _ .. 3

Sol.:L. H. s Sn0-2sin’0

2 cos®0-cos 0

sin@(1-2 sin? 0)
cos 0 (2 cos? 0 - 1)

(1-2 sin? )
[2 (1-sin? 6)—1]

=tan®

el (1-2sin?e) }

|2-2sin?0-1

' 1-2sin%0
| 1-2sin?0
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15. Sol.: Let a be the first term and d be the
common difference.

a=17,d=9

and a,, =350
a+(n-1)d=350 2
17 +(n-1)9 =350
(n_1)=350—17

9
n=37+1
~ n=38 2

Now S, :% [a+an]

or Ssg = 3—28 [17 +350]

=19 x 367
or S38 =6973 2
16. Sol.: Let h be the required height of the
platform

The volume of the platform will be equal to
the volume of the earth dug out from the
well. 1

Now The valume of the earth = zr’h

= 2—72><3.5><3.5><20

=770m3 2
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Also the volume of platform =1 x b X h

= 22x14xh m3 1
But volume of platform = volume of the well

22%14xh =770

_ 770
22x14
h=25m
. Height of the platform = 2.5 m 2
17. Sol.:
Monthly No. of c. f.
Consumption Consumers (f)
65-85 4
85-105 5 9
105-125 13 22
125-145 20 42
145-165 14 56
165-185 8 64
185-205 4 68
2
% S 6—28 = 34

Median Class = 125-145
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So l= 125, c. f. =22, f=20, h=20 2

E—c.f.

Median = [+ 2 xXh
f
=125 34-22 20
20

-. Median =125 + 12 = 137 units 2

OR

Sol. : The maximum frequency is 61
~. The mode class = 60-80

[=60, fo =52, fi=61, fo=38, h=20 2

Mode = l+&xh
2fi—fo- /12
61-52

=60+ x 20 2
2x61-52-38

O+Lx
122 -90

60+i><20
32

20

=60 + 5.625
or Mode = 65.625 2

1954/1904



